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N & o & AF &2 H Ml A
SN ZEOIME T A D
o R0 EMBEE
el RROIZMBEIT X (sl &
- — _ XN H
SM-EH . C(BH) - HRAY - B2 Ofl &F o4 ﬁﬂ& HRs2
=0l ME T3t 43,512,464 43,012,522 499,942
= 37,033,708
AlHI 5,860,525
-l 618,231
=LIPJE TR 40,502,502 40,500,241 2,261
= 36,637,346
AlHI 3,526,919
2t 338,237
S| =ME=z A X3 39,951,563 40,123,482 A171,919
= 36,223,523
AlHI 3,450,531
-l 277,509
=0 30,934,205 29,018,115 1,916,090
= 28,701,840
AlHI 2,232,365
301 Et2A = 30,934,205 29,018,115 1,916,090
= 28,701,840
Al 2,232,365
01 ANBIBHELHI 30,934,205 29,018,115 1,916,090
OYBSTH MHSO 30,934,205,0002 30,934,205
= 28,701,840
AlHI 2,232,365
F=HEO 6,512,858 8,040,710 AN1,527,852
= 5,861,572
AlHI 455,900
-l 195,386
301 YLErEaa 6,512,858 8,040,710 A1,527,852
= 5,861,572
AlHI 455,900
2 195,386
01 ABIBZELHI 6,512,858 8,040,710 A1,527,852
SEFETY 6,512,858,0002 6,512,858
= 5,861,572
AlHI 455,900
24 195,386
w30 1,638,869 1,373,633 265,236
= 1,474,982
AlHI 114,721
4l 49,166
301 Et2a = 1,638,869 1,373,633 265,236
= 1,474,982
Al 114,721
-l 49,166
01 AlRIEEE+56l= 1,638,869 1,373,633 265,236
Ous=H 1,638,869,000& 1,638,869
= 1,474,982
AlHI 114,721




SN FOMET A
X RO EMEEE
o9l RO EMBAIT N SR
_ _ SIE=
SA BB CR(SH) - NRAY - A S aros Gil &b 08 2
| 2l 49,166
23X FSHHL K 49,750 46,750 3,000
AlH] 49,750
301 LerP A 49,750 46,750 3,000
AlHI 49,750
NIEEEE R E 49,750 46,750 3,000
O%+2X 2SU 49,750,0002 49,750
AlHI 49,750
~3% DS 559, 160 540, 160 19,000
AlHI 559, 160
301 LEHEAD 559, 160 540, 160 19,000
AlH] 559, 160
IEEEERYE 559, 160 540, 160 19,000
OFUHE DA 559, 160,000 559, 160
AlH] 559, 160
AR RI2 0f 141,923 128,384 13,539
= 127,730
AlH] 9,935
2| 4,258
301 YerP A 141,923 128,384 13,539
= 127,730
AlH] 9,93
24| 4,258
01 AMS| B & 262 141,923 128,384 13,539
OB A= RIS Of 141,923,000 141,923
= 127,730
AlH] 9,93
24| 4,258
MBI ZXSESMHA B2 114,798 0 114,798
= 57,399
Alt] 28,700
24| 28,699
101 1214 114,798 0 114,798
= 57,399
AlHI 28,700
24| 28,699
04 JIAHMZEHEL S 114,798 0 114,798
OAMBIZXI S8 A 114,798,000 114,798
= 57,399
AlHI 28,700
24| 28,699
THARHE KB 550,939 376,759 174,180
= 413,823
AlHI 76,388
24| 60,728
HAHE SO X 12,700 10,700 2,000




FH: F=QIMETA 0
Hu: 20| ZMEEE
CHl XIASIIE KR (sl &
SN I SRI(S) - NRAY - B sk Soe B RS2
AlHI 12,700
301 LptEasg 12,700 10,700 2,000
AlHI 12,700
01 At2IEEA 12,700 10,700 2,000
OXtat 2 Al 12,700,000& 12,700
AlHI 12,700
AAAHE NEE 11,960 10,960 1,000
AlHI 11,960
301 EtEN = 11,960 10,960 1,000
AlHI 11,960
01 AtRIEEA 11,960 10,960 1,000
OXta 21 Al 11,960,000& 11,960
AlHI 11,960
AaRAHE L=< 102,387 26,003 76,384
= 81,909
AlHI 10,239
-4l 10,239
301 YptEasg 102,387 26,003 76,384
= 81,909
AlHI 10,239
-l 10,239
01 At3lEEH 102,387 26,003 76,384
OX&RAANS 102,387,000& 102,387
= 81,909
AlHI 10,239
T4l 10,239
22 XX 414,892 270,059 144,833
= 331,914
AlHI 41,489
T Hl 41,489
301 EtEA = 414,892 270,059 144,833
= 331,914
AlHI 41,489
-4l 41,489
01 AtRIEEA 414,892 270,059 144,833
(OFdi="2-PNDN 414,892,000& 414,892
= 331,914
AlHI 41,489
-4l 41,489
S0 AL Mel 9,000 7,000 2,000
201 LBt 3| 5,000 5,000 0
01 AtS 22l 5,000 5,000 0
OSHD At ™el 31 5,000, 000& 5,000
307 QI2+0I A 4,000 2,000 2,000
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XM ZH: 20|
AL e S

J
2l XHak

HE X8 (etol & e
= % ol (5 = 5 dEE =
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ol AF o8 BlusZ

05 BI2teIet3 4,000 2,000 2,000

ORADAIYR ALMIMel 9IS 500,0009 =8 4,000

SXoe =4 2,984,690 2,485,745 498,945
= 396,362
AlHI 2,333,606
2| 254,722
NN 2,200,738 2,038,054 171,684
AlHI 2,160,538
, 2| 49,200
A3l 1,595,728 1,582,294 13,434
AlHI 1,595,728
1,595,728 1,582,204 13,434
AlHI 1,595,728
1,595,728 1,582,204 13,434
1,595,728,000! 1,595,728
AlHI 1,595,728
WL 361,850 355,600 6,250
AlHI 361,850
361,850 355,600 6,250
AlHI 361,850
361,850 355,600 6,250
X2 361,850,000% 361,850
AlHI 361,850
p 2,000 2,000 0
AlHI 2,000
2,000 2,000 0
AlHI 2,000
2,000 2,000 0
2,000
AlHI 2,000
o 20y 2 60,000 60,000 0
AlHI 60,000
60,000 60,000 0
AlHI 60,000
60,000 60,000 0
IIHE S XU SIS N2
60,000, 00084 60,000
AlHI 60,000
o NEREE 24,000 24,000 0
2
AlHI 24,000
24,000 24,000 0
AlHI 24,000




FH: F=QIMETA 0
Hm: =708 K4
&2 ME=XAIE 2 (ctel: &
X LH -
SN HH G (EH) - MBAY - BYS 01l &k o LS s
02 2ItBAE X 24,000 24,000 0
OYPYUOIIE L HASLINS 28 2
ZHl X 24,000, 000& 24,000
AlHI 24,000
MEEXAE 2AZLLAHIX 10,560 10,560 0
AlHI 10,560
301 LetE A= 10,560 10,560 0
AlHI 10,560
09 SUZRRABLZ 10,560 10,560 0
OAM3IZXAE Bx 10,560,000& 10,560
AlHI 10,560
M EX2 DIs22 152,000 0 152,000
AlHI 106,400
-l 45,600
402 QIATH=0| 152,000 0 152,000
AlHI 106,400
-l 45,600
01 SIAXG2EX 152,000 0 152,000
OMIEXS JISsEH 152,000, 000& 152,000
AlHI 106,400
4l 45,600
SETE=NH M)z BEX 3,600 3,600 0
307 QI2t0IA 3,600 3,600 0
02 2ItBAE X 3,600 3,600 0
OF&sgsAa dIlg B 300,0003+123] 3,600
A SA = 109,755 111,479 AT1,724
= 22,362
AlHI 23,900
-l 63,493
T2 A BCIHO0IE X2 30,472 30,472 0
=2 15,236
-l 15,236
307 212t01& 30,472 30,472 0
= 15,236
el 15,236
02 2ItAASE X 30,472 30,472 0
OXJASAH 2CIHIOIE XI& 30,472,000& 30,472
= 15,236
=l 15,236
FEaddolA 2 -2 ANFSAYH 23 16,800 16,800 0
AlHI 8,400
-l 8,400
307 212t01& 16,800 16,800 0
AlHI 8,400
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B
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| 8,400

02 QIHAAEE 16,800 16,800 0

oML 7

16,800
Alt] 8,400
2| 8,400

T2 NFEAMESY 38,231 38,231 0
Al 5,500
2| 32,731

307 2120 & 38,231 38,231 0
Alt] 5,500
2| 32,731

02 SIZFAAEE 38,231 38,231 0
OF - 2 UNZA 38,231,000 38,231
Alt] 5,500
2| 32,731

TSN 282 X 14,252 15,976 1,724
= 7.126
2| 7.126

307 PI2HOIA 14,252 15,976 ~1,724
=2 7.126
2| 7.126

02 SIZFAAEE 14,252 15,976 ~1,724
ONAZ AKX 2& 14,252,000 14,252
= 7.126
2| 7.126

T2 AFI 2 24| 10,000 10,000 0
Alt] 10,000

307 PI2H0|& 10,000 10,000 0
Alt] 10,000

02 SIFAAMEE 10,000 10,000 0
OXAZA T2 Jje| 10,000,000 10,000
Alt] 10,000

XIS AFS| A HIA EXHAFY 534,285 236,000 298,285
=2 374,000
Alt] 139,928
2| 20,357

IENLE BIRHA 135,714 30,000 105,714
= 95,000
Alt] 20,357
2| 20,357

307 PI2H0|& 135,714 30,000 105,714
= 95,000
Alt] 20,357
2| 20,357

02 SIFAAEXE 135,714 30,000 105,714




M FOIMBXAD
B =x00 24
&2l NLASI Al A SXHALY (el =3
_ _ _ Muo
SA-E . S(E) - MEAY - BES 0 & 24 i SImE=ET
OX DA MEIASEX RILHE (DIZ=HLE )AL
& 135,714,000 135,714
= 95,000
AlHI 20,357
-l 20,357
UL E HISHAS 398,571 206,000 192,571
= 279,000
AlHI 119,571
307 2120l & 398,571 206,000 192,571
= 279,000
AlHI 119,571
02 2ItBAE X 398,571 206,000 192,571
ORIGATBIAHIAS R X SOHE (2N LE ) A
& 398,571,000& 398,571
= 279,000
AlHI 119,571
MEI=X S 130,912 100,212 30,700
AlHI 9,240
-4l 121,672
MISXNTHESRE REL BAZRALIX 18,480 18,480 0
AlHI 9,240
Tl 9,240
301 et as 18,480 18,480 0
AlHI 9,240
Tl 9,240
09 2A2RRIENS 18,480 18,480 0
OAM3IZ2XEEEX 18,480,000& 18,480
AlHI 9,240
-l 9,240
SXNEE MdlA 2Et 106,432 76,332 30,100
201 et 41,116 41,016 100
01 AtR2teld] 1,646 1,546 100
OXNgGA=XTHE M 8,000& 7023 x13l 560
O=NESEEI} N2 M
18,0003 9 2 0F+3% 486
OINEMELSZLDN SRS HE
302 %10,0000H*23 600
02 3329 39,470 39,470 0
oREz 22,000,000& 22,000
OFEAM & 85,800& 123 1,030
OH2g & 1,250,000& 123 15,000
OYLEAl | AEZ
40,000 *3CH = 12& 1,440
202 O 2,880 2,880 0
01 =AY 2,880 2,880 0




S A RIS KR
RO PITRE
el AtEl=X B3 R
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
OZAMEES Of] 30,0002 8% » 128 2,830
203 YRFXY| 22,780 22,780 0
03 AZETLRETY 22,780 22,780 0
OZFMEX AR AIYET 3,200,002 3,200
ORENAS 22U A2 3,000,008 3,000
O=X A= 2,500, 0002 2,500
OMER! AIBEX 480,002 480
OSSR FE o Y2NSAHIA RHTALS
800,000%! 800
OMBIZXST AIZEZ 2,800,0002 12,800
207 Pt 30,000 0 30,000
01 eB | 30,000 0 30,000
OM2Il NAAB =X +8 2
30,000, 0002 30,000
301 YA 9,656 9,656 0
09 BolaPRUBYZ 9,656 9,656 0
OMBIZX YL E 9,656
=3 88,0002 +32 * 12 3.168
=L 5,000% 222! 532+ 128 3,960
nEy 2,6008 5202l +32i %128 2,060
I =) 156, 0002 *32 468
YRAMOIIE X & 6,000 5,400 600
201 Y| 6.000 5,400 600
02 BB 6.000 5,400 600
OZPUUOIIEL 2otS &I
500,000+ 128 6,000
HYS AL (FULE D) 25,272 26,536 A 1,264
o122 et 7,200 7,200 0
o122 oyt 7,200 7,200 0
203 YRFXY] 7,200 7,200 0
01 JTEAYRFIY] 3,000 3,000 0
Ol eEIYRFIY 3,000, 0002 3,000
04 PHESLREI 4,200 4,200 0
ORMESIYRETY 4,200,000% 4,200
JEEIN 18,072 19,336 A1,264
IR E 18,072 19,336 A1,264
201 Y2y 18,072 19,336 A1,264
01 ARl 18,072 19,336 A 1,264
ORNeg+=H| 9,640, 0002 *90% 8.676
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